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Here’s something to ponder as you think about making your New Year’s resolutions: There’s something you could skip
just one or two times a year that could reduce your carbon footprint .................. (46) as much as 10 to 20 percent. It’s
something that’s kind of a hassle anyway and costs a ................... (47) penny to boot.

From releasing greenhouse gases while in the air to discharging fuels, lubricants, and other potentially
................... (48) chemicals before takeoff, countless studies have determined that air travel has an undeniable effect on
the environment. Now, a newly published study finds that planes flying above clouds during precipitation events can
cause far more rain or snOW t0 ................. (49) from those clouds — .........c........ (50), under the right conditions.
Moreover, the scientists observed satellite images of clouds above airports, and also studied computer models of the way
clouds behave. What ................... (51) that as a plane flies through a very cold cloud, the air behind it expands and then
COOIS ..o (52) rapidly. This sudden drop in temperature, ................... (53) with the hole formed in the cloud where
the plane has passed through, can increase the chances of rain or snow on the ground.

................... (54), with hundreds of flights every day, this can have a significant influence on weather patterns up

to 100 kilometers away. The researchers point out, ................... (55) through clouds are unlikely to influence the global
climate.
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47- 1) large 2) shiny 3) pretty 4) fortunate
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48- 1) rotten 2) toxic 3) hurtful 4) exotic
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49- 1) fall 2) drop 3) release 4) leak
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50- 1) 14 times more precipitation totaled up
2) up to 14 times more totaled precipitation
3) totaled up to 14 times more precipitation
4) totaling up to 14 times more precipitation
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54- 1) Major airports considered 2) In case major airports

3) Considering of major airports 4) In the case of major airports
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55- 1) however, that aircraft passing 2) however passing aircraft

3) aircraft passing, however 4) passing aircraft, however
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